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IE (BT & ARNEFHFT=EHET 5

THA(RBATHARD LYEEEER DD Fk 27108268 £T

BRAL B B ER27F8HA27H(K) F#%28500%
EALEE (BT AEE

FREGER 8 ¥5918,400| FEMECHERKRZEZELD) ¥6,700,320

SHLEEIZRDEER ¥438,400| RIEFIRMEECEERZEL) ¥5,918,400
NO 2 & A& A+LEE FALER

() TLTL ¥5,480,000
2lfETE ¥5,480,000
|{(B) LT AERIE ¥5,480,000 &AL
4l AU TE ) ¥5,480,000
5/(F) B LB T T ¥5,480,000
6| (KR EAER ¥5,480,000
BT E ¥5,480,000
gy —21)—2 ¥5,480,000
9|(\)ria= ¥5,480,000
10| (#)) OSE LK ¥5,480,000
1|(F) mMHEESE ¥5,480,000
12| () EUTVY ¥5,480,000
13|EA R (%) ¥5,480,000
14|(R)MTIE ¥5,480,000
15| bZILTY (BR) ¥5,480,000
16| XA T % (%) ¥5,480,000
17| () X = ¥5,480,000
18| (#%) 2927 ¥5,480,000
19|5k FOZ2 3R (%) ¥5,480,000
20| (%) HaAH ¥5,480,000
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FREGER 8 ¥5918,400| FEMECHERKRZEZELD) ¥6,700,320

SHLEEIZRDEER ¥438,400| RIEFIRMEECEERZED) ¥5,918,400
NO 2 & A& A+LEE FALER

2BV TAUEELE ¥5,480,000
22| (%) ZAIG TH#515 ¥5,480,000
23| (A) KB BT X ¥5,480,000
24|BHHIR ¥5,480,000
25|J0—ERFH () ¥5,480,000
26| (%) v<wa—KL—ay ¥5,480,000
27| (%) =K E&(&E ¥5,480,000
28| L B R ¥5,480,000
29| (#) TE A %1% ¥5,480,000
30((H)E. S.C ¥5,480,000
3| (B THANER ¥5,480,000
2| ra1—Tvy ¥5,480,000
B|HNTCZ7 ¥5,480,000
34| (%) T — LR ZEFRIER IR ¥5,480,000
35| (#)) MKS ¥5,480,000
36| (¥k) Bp AT 3% f ¥5,480,000
37|#t ¥5,480,000
38| FIEEE ¥5,480,000
9|\ X—TV ¥5,480,000
40| (BR) R T3 ¥5,480,000
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FRER ESE ¥5918,400| FEMECEEREZED) ¥6,700,320

SHLEEIZRDEER ¥438,400| RIEFIRMEECEERZED) ¥5,918,400
NO 2 & A& A+LEE FALER

41| (k%) & H &% s ¥5,480,000
42| (%) #9 TA ¥5,480,000
43| (kk) AL BB ¥5,480,000
44((B)a—\IR ¥5,480,000
45| (k%) PREFER IR ¥5,480,000
46| (BR) TSRV ¥5,480,000
47 & F xR ¥5,480,000
48| (kk) 1B 5% ¥5,480,000
49 (BR)A=>3 ¥5,480,000
50( () R A& & ¥5,480,000
51([F—2RXIL 1> ¥5,480,000
52|BRZ= T3 (%) ¥5,480,000
53[FRIT I () ¥5,480,000
54| (#%) PILERIE LR ¥5,480,000
55| RE—EE % (¥K) ¥5,480,000
56 [k F &% fim (¥F) ¥5,480,000
57| (%) BIZE ¥5,480,000
58| (A7) ALFE &% % ¥5,480,000
59|FEIZ-TUT=TULY (B) ¥5,480,000
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